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Question 1.
Referring to figure 1,
a) Give the micro-code that is executed when the MIR of Tanenbaum's Mic1 subset of JVM
contains:
001015201021,

b) Translate the following micro-code into the bits of the MIR and write the answer in hexadecimal.
H=TOS; wr; goto 236

Question 2. -
The following defines an arithmetic and logical unit:

Al A F
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+ and - are arithmetic

a) What is the output when:
I[ Iz Ig A[ Az

iy {1101 1] O
i) [ 1) 0{ 1] O] O
i) 0] 11 1] O 1

b) When:
Il=Iz=I3=A1=A2/=O
what happens?

Question 3.
a) Differentiate between the terms bus and bus protocol.

b) What is a wrist strap?

¢) What are the functions of A, B and C on this chip?
1a+1

1B+ 2

1873 13+ ov

VW +7

d) What is anonymous FTP?

e)How do manufacturers ensure you put their CPU into the motherboard correctly?



Question 4.
a) Express -10, in binary.

b) Convert 2649,, into hexadecimal.

¢) Convert 1394 to octal.

d) Why would you choose JVM and not Java in which to write a program?
Question 5.

a) Show how the OR logic function can be implemented using transistors. -

b) How do you implement a two input AND gate using NOR gates only?
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Figure 1: A reminder of the tables introduced during the course, defining the MIC1.

End of examination paper.




